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1. Find the inverse of

Tf(x)_7 2x 43
X=—'_'SH+3<
5(%-3)="7-2y
-2y = 5(x-3) -1
_ 5(x-3)-F
ye HxAZ

2. Find the inverse of
/() =log,(x~11)-6
=109, (y-11) -6
X+6= log,(4y=11)

-7)(+6__(d_'_)|

3. Find the inverse of

fx)=v4-8x" +1
L}-glja +

(X—I)z:: "7‘—8({3

4. Label each as even, odd or

neither.

a) y=x'+x>+1 !EVEN]
Y= x" + X2+

b) y=3x —x+7 NE’THE

Yz N+ (-x)*+
Y=3Cxy=(-x)+3

y= —3x5+>( +
¢) y= _'—‘(—;;03 )
x° —x (.-x) -X == ]

"5 +x ,rG\’%J

22X
B. SoIvz(i_ =X _ 2} T

b-x*=4X
O =X3+4Xx—G
)(:. —w
2
Vio
JG0 &
X=—2+ = %—
g_)((='2‘i\/$5

6 Write an equation for the path. -

of the ball where Aliyah throws the
basketball 22 feet down court with

a maximum height (above the (n,s)
starting ht) of 6 feet.

Yy=a(x-1)+6 @

0= QA (22-11)+6 .
~-b=12la > A= 57

Y&f: % (-6 |

(22,6)

7. Find the intersection of -

f(x)=x-3and
2(x)=x*~5x-10.
=)

“6x-7=0
(X-N(X+1)=0

8. Convert f(x)=x"+6x—3 into
graphing form.

U )(+6X+q -3-9 _

9. Solve 3(m—4)" —7=68
(m-4)*= 25
m-4==+ S

m=4*5S

or(m=-1)

X ~5x-10 = K-'3
10. Solve 49—x-7=33

Va-x =10 O =X+ x-1) *
g-x = 100 x-mnt: x——w ovr F?-
Plug in'Yy= < —x= ‘;«8

11. Find the vertex of the function

S(x)=(x+4)(x-12)

Y= (4 +DM- -12) > Y=-6"
versex (4,- -oY4)|

12. Write an absolute value graph ?
with vertex (-4, 6) passing through
the point (-2, 2)
y=alx+4|+b
2= |-zl +6 A= Z

-

) g;—z/xw/wf

13, Solve 3|Sx—7[+1=31 |

Isx-1/=10

| _ 4x =S 9= 6x
5x-7=/0 or ~5x+7=10 x = S/ x=3%
-L'l _-___3 e 1.4 ; 2

14, Solve |5x 7‘<x 2
SX-7=%-2 Or “Sx4 =%2

e
o
No Solution

15. Find the largest angle of AABC
if a=2, b=3; c=4

43224 2(2)G) cos C
C=cos'(~25)




16. The chance of getting a "free
pass” is 0.3. What is the
probability of getting exactly 4
free passes in 10 attempts?

oCy (37 (T)
= f 2001

19. What is the equation of a line
passing through (2, -7) and (-3, 3).

M= _‘d—ﬁ :_-/Eo- — m.:—z_

=-2x+ b
(2)+b > b="3

y

- 7=-2

[ Y=-2x-3]

17. Sofie earns $1000 a month for
random jobs. Each month her
salary increases by 8%. Write the
equation that models this situation.
What would her salary be after
working for a year?

y=1000(1.08)”

18. Kylie earns $1000 a month for
random jobs. Each month her
salary increases by $108. Write
the equation that models this
situation. What would her salary be
after working for a year?

Y= 100008 %

20, Solve x* +3x <10
x243%x-10 0
(X+8)(x-2)=0

— oA N\ e
-< 2

3x-2y=6
21. Solve 1 A
y——5x+
3x-2 [ xt4]=6
Lt
IX+x—8=6 y= i(%')*‘f

Y g

22. Three cans of soda and two
bags of chips cost $5.35. Two cans
of soda and four bags of chips cost
$6.90. What is the cost of the

g
2x44y =690 @

%
'%‘j =710

23. Put in graphing form.
X' +4x+y"-8y-12=0

xZyx+ 4+ l{zf&ﬁ__lé_ =/2420

(x+) 2+ (y-4)*= 32

24. Write an equation of an
exponential function that passes
through the points (1, 16) and

(3, 10.24). y a;zo
Il;:Gf'lo'3 —asy 7 ;
10.24 =ab 2 70.2Y ;L:;b
/6 b*=(0.24
b=03%

!g:zo(o.ev ﬂ

25. Solve 5" = 20
x-109s = log 20

x=_10920
log s

[x = I 8’é/ﬂ

26. Sketch y = ny-1|-2
. -2y

1
27. Sketch y=—+3 )
etch y=—— (6,3

28. Sketch y=2""-3

~ 1y

-—

[

30. Sketch y=—(x+4)’+2
n

—L,L’ 2




31.Find the domain of 32. Sketch y =log,(x+3)-2.
Fy=Y1=* Vi-x X2 Find the domain and x-int,
x-15 X#1S X>3
& NAOANAAD O /09Z(X+3) “
N1 | 109 L, (X+3)
L7,1D008,0)|] 2%x+3 —
34. Height is normally distributed. | 35. Solve

If the average man is 68 inches
with a standard deviation of 4
nches, what is the probability you
randomly choose a man taller than

log,(x~5)+log,(x+1)=3

Jog, [ x-gx-s]=3

b5 inches? _ 073: XZ Yx-S
_ 4t NIb-(-s2)
bs a9 X = qrzﬁ% [o+13
normalcd((éalo ,68,‘:‘) =
_37. Solve 38. Solve o
bg. (x+3)+ log,(x~2)=log,(14) log,(2x-3) - log,(5)=4
1097(x1+x—c)=10g,(l‘*) 1097_3—3 4
L1X-t = 4_2%-3 3
%x;xeiq 2t=22 L[ .8
X+x%-20=0 2x-3 =80
(X +§>CK—'~/\ =( 72x =8

40. How many distinct 4 digit ID
numbers can be given? given?

6 .10 /0 */0

— e e——

41. How many different ways can
three person committees be
selected from 8 people?

s Cs =[5¢f

41, How many solutions does A ABC
haveifa=15 b=11 and angle
A =35°

3] 5
/\

in AABC.

? 0

Csmd5 . smB
s I

A

24.87°

iFred -
B,= I50-B:

B, =185’
vty
/

Ar
A

5

24 10°-2(8)(10)cos 88 A

sm32 _

c:8
[c= 1225 ]

|

42. Find ¢ if b= 10, a= 8 and C=85°

33. leenli ; f@o Find the

inferquartile range. )@= Qz -9,
Jor="7-4

lar 9 3]

36. Height is normally distributed.
If the average man is 68 inches
with a standard deviation of 4
inches, what is the height of a man
representing the 70™ percentile?

5%%qu

b§
mv/Norm (7)68) LD

—3?\A/—ha§f—(g(7))F -

_5(#>
- | 5%

42 How m_any_dif_ﬂarenf ways can
ways can first, second and third
places in a race of 10 people?

10 .9 % :(720;

B

0! 3

43, Given AABC, find b when a=30,

A=32° and €=18°
C

b /18 30
22" |3p

23
om 130

30 b

[b= 45.33])




